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FILTRES

POLYNOMIAL FILTER 
section 1

NORMALIZED ROOTS:
-RE=1,5735
+-IM=8,3213

NORMALIZED CARACT.:
Fc*=θ,2556
1/0=1,959b
1+1,2282.8+6,3877.312

FILTER CfiRACT.
F3dB=4888008,088

Fc=6423875,392
1/8=1,9596
1+4,85E-8.S+6,14E-16.ST2

LP FILTER
COKT.SOURCE?->J

SYNTH.?->J

Fc=6423875,392
1/8=1,9596
G8=l

SCALING:
H%=12,00
RHIN=100,00
RHfiX=1000,30

< C >KAXMfiX?: 88,99E-12 
<OHINHIN?:52,74E-12 
OK->J

SIZING:
CI/52,74E-12
CK67,12E-12
C1*=56,00E-12

C2>58,33E-12
C2<74,24E-12
C2*=68,00E-12

Rl:270,853

RP?=270,053
RP1*=237,E0
RP2*=4,64E3
Re*=2f 8,28<l
ERR=0,0849'i

RZ:596,898

RP?=596,898
RP1*=619,E8
RP2»=16,2E3
Re*=596,219
ERR≈-0,1139^

RESULTS:
G0*=1,008b

Fc*=6424809,54z
ERR≈θ,01454

1/8*=1,9588
ERR=-6,83744

I+fil.S+82.St2
fil=4,8524E~8
fi2=6,1365E-16

ROOTS:
RE=-39537316,78
+-IH=8148479,429
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FILTRES

R5?=564.620
RS1*=562,E0
RS2*=2,61E9
Re*=564,610
ERR=-0,80184

POLYHOHIAL FILTER 
section c

HORKALIZEB ROOTS;
-RE=1,3836
+-IM=8,9727

NORMALIZED ChRACT.
Fc*=0,2692
1/8=1,6361
1+0,9674.8+8,3496.St2

FILTER CARROT.
F3dB=4000008,000

Fc=6765198,296 
1/8=1,6361 
l+3,85E-8.S+5,53E-16.St2

LP FILTER
CONT.SOURCE?-)J

SτHTH.?->J

Fc=67651'38,296
1/8=1,6361
Gθ=l

SCALING;
H%=12,80
RHIH=i00,00
RHAX=1000,00

<ONRXMRX?: 181,2E-12 
<C>HINMIH?:4i,81E-12 
OK->J

SIZING:
C1>41,81E-12
CK53,22E-12
C1*=47,00E-12

C2>70,23E-12
C2<89,38E-12
C2*=82,00E-12

Rl:254,338

RF?=254,338
RP1*=261,E0
RP2*=10,0E3
Re*=254,361
ERR=0,0092X

R2:564,620

RESULTS:
G0*=1,0000

Fc*=6764949,884
ERR=-θ,6037'i

1/8*=1,6361
ERR=-0,80214

l+Ai.S+A2.Sf2
Al=3,8492E-8
A2=5,5349E-16

ROOTS:
RE=-34771656,60
+-IN=24446754,24
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FILTRES

POLYNOMIAL FILTER 
section 3

HORMmLIZED ROOTS:
-RE=6,9318
+-IM=1,6646

NORMALIZED CfiRRCT.;
Fc*=B,3835
1/8=8,9772
1+8,5124.8+8,2749.5+2

FILTER CfiRACT.
F3dB=4888008,686

Fc=7628522,528
1/6=8,9772
1+2,84E-8.S+4,35E-I6.5t2

LP FILTER
CONT.SOURCE?-)J

SYNTH.?->J

Fc=7628522,528
1/8=6,9772
Gθ=l

SCALING:
HX=12,8θ
RnIN=108,88
RNAX=i06O,88

<OMAXNAX?:158,3E-i2
<ONINNIN?: 22,152-12
TOO L0«->J

<OHfiXNfiX?:198,4E-12
<OHINHIH?:29,24E-12 
TOO LOH->J

<OHfiXFlHX?:23t=,2E-12 
<C>HIHNIH?:34,81E-12 
OK->J

SIZING:
C1>34,81E-12
CK44,31E-I2
C1*=39,88E-12

C2)163,4E-12
C2<287,9E-12
C2*=18θ,0E-12

Rl:181,933

RS?=18i,933
RSl*=i78,E8
RS2*=3,83E3
Re*=181,838
ERR=-ô,8565λ

R2:348,889

RP?=348,889
RPl*=34δ,E8
RP2*=16,2E3
Re*=348,682
EER=-ô,837^

RESULTS:
Gθ*=1,8866

Fc*=7832166,693
ERR=6,8478X

l/8*=6,9772
ERR=8,6629‘/.

l+fil.S+fi2.St2 
ftl=2,8378E-8 
fl2=4,3486E-18

ROOTS:
RE=-23430372,59
+-IM=41848148,94
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IHV. LAPLACE TRANSFORM

TRANSFER FUNCTION;

nunerator :
nor. of poγj'.≈I

POLYNOME Nl=
order=9

fiβ =l,.θ000E6

denominator :
nbr. of poly.=3

POLYNOME Dl=
order=2

fiθ =I/0e00EO
fii =48>520E-9
A2 =613;65E-18

POLYNOME D2> =
order=2

Aθ =b0000Eβ
Al =38,492E-9
A2 =553,49E-18

POLYNOME D3,=
order=2/

AO =L0600E6
Al =20,378E-9
A2 =434,86E-18

INPUT FUNCTION
step=
v≈bθôeθ

TIME DOMAIN: <T IN SEC.>

T KIH.=6..000E0
T MAX.=30G;0E-9
T INC.=30,00t~9
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FREQUENCY ANALYSIS

FREQUENCY RESPONSE :

F KIH.=ô,68θθEθ
F MAX.=10,090E6
F INC.=50θ,00E3

f=θ> θθθθeθ
G<F>=i..8000E0 

=0,880 dB 
4=0,860 DEG.
=0>000*PI RAD.

F=50θ.80E3
G<F>=994,84E-3 

=-9,045 dB 
4=-19,338 DEG.
=-6,107*PI RAD.

f = 1 > θ θ θ θ E 6
G<F>=979,49E-3 

=-8,189 dB 
4=-38,661 DEG.
=-9,215*PI RAD.

F=1-■ 5θ0θE6
G<F>=954,32E-3

=-8,406 dB
4=-57,992 DEG. 
=-0,322*PI RAD.

F = 2.» 0O00E6
G<F>=919,98E-3 

=-8,725 dB 
4=-77,324 DEG.
=-6,430*PI RAD.

F = 2,5000E6
G<F>=877,84E-3 

=-1,149 dB 
4=-96,657 DEG.
=-8,537*PI RAD.

F = 3,00O0E6
G<F>=528,70E-3 

=-1,653 dB 
4=-l15,999 DEG.
=-9,644*PI RAD.

F — 3 j 5 0 0 0 E 6
G(F)=769,97E-3 

=-2,271 dB 
£=-135,322 DEG.
=-8,752*PI RAD.

F = 4 .« 0 0 U 0 E 6
G<F>=7θ8,ô2E-3 

=-2,999 dB 
4=-154,648 DbG.
=-9,859*PI RAD.

F — 4 j 5 0 0 0 E 6
G<F>=642,05E-3 

=-3,849 dB
4=-173,955 DEG. 
=-0,966*PI RAD.

F=5,0000E6
G<F>=573,32E-3 

=-4,832 dB
4=166,792 DEG.

=0,927*F1 RAD.

F = 5,500OE6
G<F>=583,22E-3 

=-5,965 dB
4=147,668 DEG.
=θ,820*PI RAD.

F = 6 j 0 θ O O E 6
G<F>=433,39E-3 

=-7,262 dB
4=128,808 DEu.
=0,716*PI RAD.

F=6,5O00E6
G<F>=365,82E-3 

=-8,735 dB
4=118,381 DEG.
=0,613*PI RAD.

F=7,0Û00E6
G<F>=302,66E-3

=-10,381 dδ 
4=92,646 DEG.
=0,515*PI RAD.

F=7,50O0E6
G<F>=245,87E-3

=-12,186 dδ
4=75,834 DEG.
=0,421*Pi RAD.

F = 8 .. 0 0 0 0 E 6
G<F>=196,75£-3

=-14,122 dB 
4=68,139 DEG.
=8,334*PI RAD.

F = 8 .• 5 0 0 0 E β
G<F/=155,73E-3

=-16,153 dB
4=*K≈,6i’5 Btb.
=θ,254*FI RAD.

F=9,0000E6
G<F)=122,43E-3

=-18,242 dB
4=32,478 DEG.
=0,180*PI RAD.

F = 9 5 0 0 0 E 6
G(F>=95,959E-3

=-28,358 dB
4=28,486 DEG.
=8,114*PI RAD.

F=10,000E6
G(F>=75,215E-3

=-22,474 dB
4=9,639 DEG.
=θ,054*PI RAD.
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FILTRES

PÛLYHÜNIHl filter 
section 1

NORMALIZES ROOTS;
-RE=i,5735
t-IM=3,3213

HORMhLIZED CfiRflCT.:
Fc*=8,2556
1/8=1,9536
1+1,2282. St-0,3S?7.3t2

FILTER CfiRACT.
F3dδ=2868080,988

Fc=3388295,827
1/0=1,9538
l+9,43E-8.S+2,31E-15.St2

LF FILTER
CÖNT. SOURCE'1-> J

SYNTH.?->J

Fc=3388235,827
1/8=1,9536
G0=1

SCALING:
HX=12,86
RNIN=200,00
RHAX=2808,00

<C;MfiX?:86,40E-12
<C>NINNIN?;51,28E-12 
OK->J

SIZING:
C1>51,28E-12
CK65,17E-12
C1*=56,08E-12

C2>58,33E-12
C2<74,24E-12
C2*=68,60E-12

Rl:524,374

RS?=524,374
RS1*=511,E0
RS2*=13,3E0
Re*=524,360
ERR=-0,0142*:

R2:li53,026

RP?=1153,82fc
RP1*=1,21E3
RP2*=28,7E3
Pe*=1161,050
ERR=0,i746X

RESULTS:
G6*=1,0000

Fc*=3305645,7i7 
ERR=-8,0801’;

1/8*=1,9683
ERR=0,0356X

l+Al.S+A2.St2 
fil=9,4380E-8 
A2=2,3181E-15

ROOTS;
RE=-2δ357312,24
+-IM=4119720,646
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FILTRES

POLYNOMIAL FILTER 
section 2

NORMALIZED ROOTS:
-RE=1,3836
+-IH=δ,9727

NORMALIZED CAR'ACT.:
Fc*=s, 2692
1/8=1,6361
1+8,9674.5+8,3496.3t2

FILTER CARACT.
F3dB=2860088,808

Fc=3484877,122
1/8=1,6361
l+7,47E-8.S+2,09E-15.St2

LP FILTER
COHT. SOURCE?-}.]

SYNTH. ?->.J

Fc=3434077;122
•/8=b6361
00=1

SCALING;
H4=12,06
RMIH=208,@0
RMAX=2000/80

<OMAXMmX?:98,26E-12
<C>™iN?:48,68E-12 
0K->J

SIZING.
CD48..60E-12
CK51/67E-12
C1*=47,00E-12

C2>78,23E-12
C2<89,38E-12
C2*=82,0BE-12

Rl:493,868

RP?=493,ô6θ
RPl*=51bEθ
RP2*=14,7E3
Re*=493,833
ERR=-0,ô0534

R2:16’96,350

RP?=1096,358
RPl*=bl8E3
RP2*=316,E3
Re*=10‘96,134
ERR=-0,81524

RESULTS.
G8*=1,8006

Fc*=3484434,294
ERR≈δ,0103λ

1/3*=1,6361
ERR=-θ,08m

1+A1.S+A2.ST2
Hl=7,4731E-8
A2=2..0863E-15

ROOTS:
RE=-17909938,05
+-IN=12591772,46
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FILTRES

POLYNOMIAL FILTER 
section 3

NORMALIZED ROOTS: 
-RE=θ,9318
+-18=1,6648

NORMALIZED CARACT.
Fo*=0,3835
1/8=0,9772
1+0,5124.5+8,2749.SÎ2

FILTER CARACT.
F3de=20b0008,000

Fc=3928689,θ98 
1/8=0,9772
1+3,96E-8.5+1,64E-15.SÎ2

LP FILTER
CONT.SOURCE?->J

SyHTH.?->j

Fc=3928639δ98
TQ=0,9772
G0=1

SCALING:
HX=12,B6
RHIH=20θ,00
RMAX=1000,00

<OMAXMAX?:232, IE-12 
<C>MIHNIH?:34,20E-12 
0K-/J

SIZING:
C1>34,20E-12
CK43,53E-12
Cl*=39,θ0E-12

C2>1S3,4E-12
C2<287,9E-12
C2*=180,0E-12

Ri:353,268

RS?=353-2b8
RS1*=348,E0
RS2*=5,UE0
Re*=353,110
£RR=-0,044bX

R2:bôl,765

RP'-≈bδ 1,765
RP1*=681,E0
RP2*=23,7E3
Re*=661,979
ERR=0,0322’;

RESULTS:
G8*=1,0000

Fc*=3928932,751 
£RR=0,0062’.

l/g*=0.9773
ERR=e,01171i

1+A1.S+A2.ST2
Al=3,9588E-8
A2=I,64θ9E-15

ROOTS:
RE=-12062782,17
+-IM=215383θθ,21
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INY. lHPLhCE TRANSFORM

TRANSFER FUNCTION:

numerator:
nbr. of Poly.≈l

POLYNOME Nl=
order≈θ

«8 =1,0608E0

d e n o Fi i n a t- o r : 
nbr. ot poly.=3

POLYNOME Dl=
order=2

A0 =L0δ00E0
Hi =94,380E-9
fi2 =2,3181E-15

POLYNOME B2,=
order=2«

A8 =l;00θ0Eθ
fli =74,731E-9
02 =2,0S63E-15

POLYNOME B3..=
order=2,

00 =1,0080E0
01 =39,588E-9
02 =b6489E-15

INPUT FUNCTION
step≈
v=i,68e8

TIME DOMAIN: <T IN SEC.}

T KIH.=0,808E0
T MOX.=600.0E-9
T INC.=ô8,08E-9
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FREQUENCY ANALYSIS

FREQUENCY RESPONSE:

F HIN.=0,00eθE6
F NAX.=5,0006E6
F IHC.=258,08E3

F=θ .■ θ θ 0 θ e 0
G<F>=i,0008E0 

=0,000 dB 
4=0,000 DEG.
=0,808%! RfiD.

F = 2 5 ß .» 0 θ E 3
G<F>=995,11E-3 

=-0,343 dB 
4=-18,"o3 DEG.
=-θ,104%! RfiD.

F==500 .. 00E3
G<F>=9S8,56E-3 

=-0,170 dδ 
4=-37,565 DEG.
=-0,209-%’I RAD.

F=750,©0E3
G<F>=956,69E-3 

=-0,385 dB 
4=-56,347 DEG.
=-0,313*PI RAD.

F=1 .. 0000EE.
G<F>=924,03£-3 

=-δ,686 dδ 
4=-75,127 DEG.
=-0,417*PI RAD.

F=1,2500E6
G<F>=883,3i£-3 

=-1,078 dB 
4=-93,966 DEG.
=-8,522%! RAD.

F = 1 .. 506 6 E 6
G<F>=835,40£-3 

=-1,562 dB 
4=-112,633 DEG.
=-0,626%I RfiD.

F = 1 .« Z 5 O © E 6
G<F>=781,32£-3 

=-2,143 dB 
458 DEG.

=-0,738%I RfiD.

F = 2,0000E8
G% >=! 1IE-3

=-2,328 dB 
4=-15B,227 DEG.
=-0,o35*Fi KHD.

F = 2, 2500E8
G<F>=658,87E-3 

=-3,624 dB 
4=-168,981 DEG.
=-8,939%I RAD.

F = 2,5666E6
G<F>=592,75E-3 

=-4,543 dB 
4=172,385 DEG.
=0,957%I RAD.

F = 2,7500E6
G<F>=524,95E-3 

=-5,598 dB 
4=153,686 DEG.
=8,854%! RfiD.

F=3,0000E6
G<F>=456,89E-3 

=-6,804 dB 
4=135,265 DEG.
=0,751%I RAD.

F=3,2500E6
G<F>=390,39E-3 

=-8,172 dB 
4=117,198 DEG.
=0,651%I RÂD.

F=3,5006E6
G<F)=327,ll£-3 

=-9,786 dB 
4=99,698 DEG.
=0,554%! RAD.

F=3tZ506E6
G<F>=269,23E-3

=-11,398 dB
4=82,965 DEG. 
=8,461%! RfiD.

F=4,0000E6
G<F)=218,15E-3 

=-13,225 dδ 
4=67,222 DEG.
=8,373%! RhD.

F = 4 .■ 2 50 © E 6
G<F>=174,62E-3 

=-15,158 dB 
4=52,681 DEG.
=fi,292%! RfiD.

F = 4 -■ 5 O O O E 6
G<F>=133,62£-3

=-17,163 dB
4=39,164 DEG,
=0,218%! RfiD.

F = 4,7 5 O 0 E 6
G(F>=109,55E-3

=-19,288 dδ
4=26,984 DEG.
=0,149%I RAD.

F = 5.. 0000E&
G<F>=86,442E-3

=-21,265 dB
4=15,763 DEG.
=0,083%I RAD.
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